6" FROM

/MIDSPAN
]

CORNERS

(O]

=3 b <
1
1o
e

P

17" O.C.
TYP.

P

TYPICAL ELEVATION WITH FASTENER SPACING

3/4” MINIMUM
J EDGE DISTANCE

1 1/2" MIN.
EMBEDMENT

1/4” MAX. SHIM SPACE

FRAME SECTION (TYP)
VERTICAL SECTION

1/4” MAX. SHIM SPACE

1 1/2" MIN.
EMBEDMENT

=

3/4” MINIMUM
EDGE DISTANCE

THROUGH FRAME
INSTALLATION

\

1/4” NMAX

/—sum SPACE
1

| —

1.1/2" MIN.

EMBEDMENT [\ —7

d|

L

ol

HORIZONTAL SECTION

4 T L q Wit
:,/
HORIZONTAL SECTION \ / 1El:B/Ezl;Mé‘}:¥'
— ><b
AT
— © X
MAXIMUM FRAME DP IMPACT
37.5 x 80.75 +55/-55 NO

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade 1.

silicone caulk when no fastener is used to anchor the sill (typical).

2. Use #10 PH or greater fastener through the head & side jambs with sufficient length to penetrate a

minimum of 1 1/2" into the wood framing. For 2x wood frame substrate (min. S.G. = 0.42). 2.
3. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening. 3.
4. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

5. Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the

project of installation.

This schedule addresses only the fasteners required to anchor the unit
to achieve the rated design pressure and impact performance (where
applicable) up to the size limitations noted. Itis not intended as a guide
to the installation process and does not address the sealing
consideration that may arise in different wall conditions. For the
complete installation procedure, see the instructions packaged with the
unit or go to www.jeld-wen.com.

DISCLAIMER:

This drawing and its contents are confidential and are not to be
reproduced or copied in whole or in part or used or disclosed to others
except as authorized by JELD-WEN Inc.

General Notes:

The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

Al glazing shall conform to ASTM E1300.
Use structural or composite shims where required.

i, DATE:
737 LAKEPORT BLVD.
OSETEIN o i o ity st %042 | TRLBWEN 373 0
. S e 5 1 e P DRAWN BY: SCALE: KLAMATH FALLS OR, 97601
e M.HAM NTS PHONE: (800) 535-3936
,,%6\@} % the |si?nal_ure must be verified on CHECKED BY: TITLE:
///u,,f,),mﬁ“\-“\“\ any electronic copies. D-VEZO - -
Al APPROVED BY: Contours Steel Outswing Half Vent Lite 3-0x6-8
MICHAEL D. STREMMEL, P.E. RECORD No.:
Florida P.E. 111&.) %%BSB,RREE. No. 37122 857
€N _1oa REPORT No.: CAD DWG. No.: REV: SHEET
Giay 616-6300 NCTL-210-3857-1 C 1of5




34 MM MASONRY STRAP
INSTALLATION
IDSPAN q 1 1/2° MIN.
6" FROM ® EMBEDMENT
CORNERS ” | H .
y o e~
® ® < S~ /4" MAX. SHIM SPACE E
110 (5 3 FRAME JAMB SECTION (TYP)
HORIZONTAL SECTION
17" 0.C.
TYP. FRAME SECTION (TYP) 4
VERTICAL SECTION G?
116 o %
T
e 1
3/4" MINIMUM _| 1/4" MAX. SHIN SPACE
EDGE DISTANCE u./é_“m E’
e o ¥ HORIZONTAL SECTION 3
® L ®
< ] o ®
T oft — AV
1/4" MAX. SHIN SPAG—/‘
1 .1/2" MIN.
ENBEDMENT
19 (21 1/4” MAX. SHIM SPACE
4’%’%’_
T T T /__1 1/2" MIN.
©) = = =t EMBEDMENT
MAXIMUM FRAME DP IMPACT
TYPICAL ELEVATION WITH FASTENER SPACING (él = 37.5 x 80.75 +55/—55 NO
J || 3/4™ MINIMUM
EDGE DISTANCE
Installation Notes: General Notes:
1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade 1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
silicone caulk when no fastener is used to anchor the sill (typical). of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
2. Use 2-#10 PFH or larger fasteners through masonry strap with sufficient length to penetrate a Florida Building Code (FBC) and the industry requirement for the stated conditions.
minimum of 1 1/2" into the buck. For 2x wood frame substrate (min. S.G. = 0.42). 2. Allglazing shall conform to ASTM E1300.
3. Use 2-#10 PFH or larger fasteners through masonry strap into jamb without penetrating through the 3. Use structural or composite shims where required.
jamb into product causing visability or collateral damage to product. 4. Masonry strap specifications: 20 Ga. galvanized steel, .036" min. thickness x 1.5" min. width.
4. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.
5. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.
6.  Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the
project of installation.
DATE:
08/04/2023 3737 LAKEPORT BLVD.
This schedule addresses only the fasteners required to anchor the unit sealed by Michael D. Stremmel, PE on ORAWN BY- SCALE. KLAMATH FALLS OR, 97601
to achieve the rated design pressure and impact performance (where ‘E”;‘e:a‘e:fdlaf;’s“ “;D‘C'Lengf' a;"”‘ﬁi‘: M.H AM ) NTS PHONE: (800) 535-3936
applicable) up to the size limitations noted. Itis not intended as a guide considered  signed and sealed  and i ,
to the installation process and does not address the sealing the slgnalure must be' werifled ion CHECKED BY: TITLE:
consideration that may arise in different wall conditions. For the Ay SeemniaEapss D.VEZO
lete installati dure, the instructi kaged with th B e " i i - -
lcj::]gregi|tr;svfwjvg;d[:rlvoec:lcl;rr: see the instructions packaged with the zéffﬁﬁ APPROVED BY: Contours Steel OUtSWlng Half Vent Lite 3-0x6-8
DISCLAIMER: MICHAEL D. STREMMEL, P.E. RECORD No.:
This drawing and its contents are confidential and are not to be Florida P.E. No. 65868, REG. No. 37122 857
reproduced or copied in whole or in part or used or disclosed to others ""1410 Eden Road ' REPORT No

except as authorized by JELD-WEN Inc.

York, PA. 17406
(717) 916-6300

NCTL-310-3857-1

CAD DWG. No.:

REV: C

" 20f 5




2 1/2° N CONCRETE /MASONRY
IDSPAN INSTALLATION
ORNER: AP Vel -
CORNERS AR R
) ) ) = = : o
1, 0 [0 OPTIONAL WOOD BUCK, 1 x 4 AN .. . .
1/4 MAX. SHIM SPACE Lo _' ?D
17" 0.C. SR
TYP. v ERAME_JAMB_SECTION (TYP)
' . W HORIZONTAL SECTION
1ré 6 ERAME_SECTION (TYP) e
VERTICAL SECTION LE
'8 ’ 1o
C . ED \_ ® .
1 o s R o \1/4' MAX. SHIM SPACE -zm'ﬁ/;’.m_”ﬁ"
zﬂ)‘é’m“‘%‘ OPTIONAL WOOD BUCK 1 x 4 . —
® s = i
| 1 2|
Ir :
11 o b J (55 \® -
1/4" MAX. SHIM SPACE o V,..
1.1/4° VN,
HORIZONTAL SECTION EVBEDMENT
1/4” MAX. SHIM SPACE
10 o OPTIONAL WOOD BUCK, 1 x 4
—F——F———F | = 1 1/4% uIN.
Lo '_. < - L _ EMBEDMENT
SR MAXIMUM FRAME DP___ [IMPACT
TYPICAL ELEVATION WITH FASTENER SPACING 4 e LT 37.5 x 80.75 +55/—55 NO
2 1/2°
EDGE DISTANCE
Installation Notes: General Notes:
1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade 1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
silicone caulk when no fastener is used to anchor the sill (typical). of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
2. Use 3/16" tapcon or equivalent fasteners through frame with sufficient length to penetrate a minimum of Florida Building Code (FBC) and the industry requirement for the stated conditions.
1 1/4" into concrete or masonry at each location with a 2 1/2" min. from edge distance. For concrete 2. All glazing shall conform to ASTM E1300.
(min. fc = 3000 psi) or masonry substrate (CMU shall adhere to ASTM C90). 3. Use structural or composite shims where required.

3. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

5. Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the
project of installation.

>

g,
= i,
Shev 0 ST,

This schedule addresses only the fasteners required to anchor the unit
to achieve the rated design pressure and impact performance (where
applicable) up to the size limitations noted. Itis not intended as a guide
to the installation process and does not address the sealing
consideration that may arise in different wall conditions. For the

DATE:
08/04/2023 3737 LAKEPORT BLVD.
oo byt Mt L, St DRAWN BY: SCALE: KLAMATH FALLS OR, 97601

copies of this document are not M.HAM NTS PHONE: (800) 535‘3936

considered  signed and sealed  and

the signature must be verified on CHECKED BY: TITLE:

any electronic copies. D VEZO

4,55, 2
gIONALE
W

complete instalation procedure, see the instructions packaged with the Aol Pht” APPROVED BY: Contours Steel Outswing Half Vent Lite 3-0x6-8
unit or go to www jeld-wen.com. 2078100 Z1°21:828 04001 D.VEZO
DISCLAMER: , MICHAEL D. STREMMEL, P.E. RECORD No
This drawing and its contents are confidential and are not to be Florida P.E. No. 65868, REG. No. 37122 DO 1 5857
reproduced or copied in whole or in part or used or disclosed to others - 1416 Eden ,Road' ’ REPORT No.: CAD DWG. No.x REV: SHEET
except as authorized by JELD-WEN Inc. York, PA. 17406 °510- _ - o '
York, BA. Lrd0c NCTL-210-3857-1 C 30f5




47 CONCRETE /MASONRY
. S » INSTALLATION
R TE i .

IDSPAN AR e
6" FROM AT E
CORNERS PO SR IN
Il @\
1/4" MAX. SHIM SPACE
HORIZONTAL SECTION

£ £ 3 B = )
J _e B . .. .. b
a TN g
L ‘A N | T—
17" O.C. O '
TTP- e | |
.EMME;EQIIQN_(HE) : . 1
o VERTICAL SECTION DN D A | ©
a E
: | & 1/4" MAX. SHM SPACE /® _ _
.. . PR a. D, N -
FRAME_JANB_SECTION_ (TYP) &
LI 22 W 1144 HORIZONTAL SECTION S
J o I
'ﬁ N e— S 2

P

P

; > 4
% N
o 1/4° MAX. SHM SPACE. N 4 L

1.1/4" NIN.
EMBEDMENT

1

1/4" MAX. SHIM SPACE

T T ? TFO-- GJ/ _1 1/4" MIN.
PREPIRIRE ) MAXIMUM FRAME DP___ [IMPACT
TYPICAL ELEVATION WITH FASTENER SPACING RN - 375 x 80.75 +55/-55| NO
é 2 1/2" MINIMUM

General Notes:

The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

All glazing shall conform to ASTM E1300.

Use structural or composite shims where required.

Masonry strap specifications: 20 Ga. galvanized steel, .036" min. thickness x 1.5" min. width.

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade 1.
silicone caulk when no fastener is used to anchor the sill (typical).

2. Use (1) - 1/4" Tapcon or equivalent fasteners through strap with sufficient length to penetrate a
minimum of 1 1/4" into concrete or masonry at each location with a 2 1/2" min. from edge distance. Use 2.
(2) - #8 PFH fasteners through masonry strap into frame. For concrete (min. fc = 3000 psi) or masonry
substrate (CMU shall adhere to ASTM C90). 4.

3. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

5. Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the
project of installation.

e

b

DATE:

B - 08/04/2023 3737 LAKEPORT BLVD.
This schedule addresses only the fasteners required to anchor the unit ::;Ted“ebn; n;‘.ac:agegn s?ig"r:y:ye\,slg:e; "Eﬁ KLAMATH FALLS OR, 97601
to achieve the rated design pressure and impact performance (where ‘E”o;e:a‘eoafdlaf;’s“ i D|$|A Vl\i'l\"&al\\(/l SCALE: NTS PHONE: (800) 53, 5-3936
applicable) up to the size limitations noted. Itis not intended as a guide considered  signed and sealed  and i ,
to the installation process and does not address the sealing ‘a“ne el:i?;?;é’;""::‘ ber erified ion CHECKED BY: TITLE:
consideration that may arise in different wall conditions. For the Y ? D.VEZO . .
complete installation procedure, see the instructions packaged with the Al APPROVED BY- Contours Steel OutSW|ng Half Vent Lite 3-0x6-8
unit or go to www.jeld-wen.com. 203300 21521158 28 04001 D.VEZO
DISCLAIVER: MICHAEL D. STREMMEL, P.E. RECORD Mo
This drawing and its contents are confidential and are not to be Florida P.E. No. 65868, REG. No. 37122 857
reproduced or copied in whole or in part or used or disclosed to others 1410 Eden Road

. REPORT No.: CAD DWG. No.: REV: SHEET

except as authorized by JELD-WEN Inc. .
roeptas auhorzed b i) G16-6300 NCTL-210-3857-1 C 4 of 5




/2" N MASONRY STRAP
o EMBEDMENT INSTALLATION
IDSPAN Q, -
/M 6" FROM FalE DigTacE
CORNERS (D\
oy 11t \
. ~~—1/4" MAX. SHIM SPACE Y
S S S Y
e 6 ©\\ peere HORIZONTAL SECTION
17" O.C. [‘:J{é.iué‘.'c'#'_ @/ =)
TYP. 1
49 & ‘ @
FRAME_SECTION (TYP) ©
VERTICAL SECTION 2 7
é/;;;fglrlm 1/4” MAX. SHIM SPACE ,
.._@ 0— - !
o HORIZONTAL SECTION ey //©
( \ \© _1.1/2" MIN.
:| B 5
-..e 0_.-
ﬂ 1/4" MAX. SHIM SPACE. 34 MMM
1 il 1/4" MAX. SHIM SPACE
M /__ 3/4" MINIMUM
t f f (D)"' EDGE DISTANCE
MAXIMUM FRAME DP IMPACT
TYPICAL ELEVATION WITH FASTENER SPACING v -~ 37.5 x 80.75 +55/-55] NO
EMBEDMENT

Installation Notes:

General Notes:

1. Sealflange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade 1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
silicone caulk when no fastener is used to anchor the sill (typical). B of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
2. Use min. 2 - #8 PFH or larger fasteners through masonry strap with sufficient length to penetrate a Florida Building Code (FBC) and the industry requirement for the stated conditions.
minimum of 1 1/2" into the buck. Bend straps around both sides of the buck. For 2x wood frame 2. Allglazing shall conform to ASTM E1300.
substrate (min. S.G. = 0.42). o . . 3. Use structural or composite shims where required.
3. Use min. 2 - #8 PFH or larger fasteners through masonry strap into jamb without penetrating through 4. Masonry strap specifications: 20 Ga. galvanized steel, .036" min. thickness x 1.5" min. width.
the jamb into product causing visability or collateral damage to product.
4. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into jamb.
5. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into jamb.
6.  Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the
roject of installation. DATE:
P 08/04/2023 3737 LAKEPORT BLVD.
This schedule addresses only the fasteners required to anchor the unit sealed by Michael D. Stremmel, PE on - SCALE: KLAMATH FALLS OR, 97601
to achieve the rated design pressure and impact performance (where ‘E”o;e:a‘eoafdlaf;’s“ i D|$|A Vl\i'l\"&al\\(/l ALE: NTS PHONE: (800) 535-3936
applicable) up to the size limitations noted. Itis not intended as a guide considered  signed and sealed  and i ,
to the installation process and does not address the sealing the slgnalure must be' werifled ion CHECKED BY: TITLE:
consideration that may arise in different wall conditions. For the Ay SeemniaEapss D.VEZO . .
lete installati dure, the instructi kaged with th B e - - -
lcj::]gregi1r;svjw3v{;:g;d;?$§slc|;r; see the instructions packaged with the zéffﬁﬁ AB)R\?EHZD(%Y Contours Steel OUtSWlng Half Vent Lite 3-0x6-8
DISCLAIMER: MICHAEL D. STREMMEL, P.E. RECORD No.:
This drawing and its contents are confidential and are not to be Florida P.E. No. 65868, REG. No. 37122 857
reproduced or copied in whole or in part or used or disclosed to others "1410 Eden Road ' REPORT No

except as authorized by JELD-WEN Inc.

York, PA. 17406
(717) 916-8300

NCTL-210-3857-1

CAD DWG. No.: REV: C

T 5 of 5






